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 The diagram shows accurate graphs of y = sinx and y = cosx for  0° Y x Y 180°. 

 

 

 Use the graph to solve the equations 

 

 (a) sinx – cosx = 0, 

 

 

 Answer(a)  x =   [1] 
 

 

 

 (b) sinx – cosx = 0.5.  

 

 

 Answer(b)  x =   [2] 
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 The sketch shows the graph of  y = ax

n

  where a and n are integers. 
 
 Write down a possible value for a and a possible value for n. 
 
 

 
 

 Answer a =    

 
 n =   [2] 

2) June 2011 V3
 
 
 

 
 

 
 
  
 
 
 
 
 
 
 

www.Q8Maths.com 3



16  

9

8

7

6

5

4

3

2

1

0
1 2 3 4 5 6 7 8

x

y

 
 

 The diagram shows the graph of  y = 
2

x

 + 
x

2
, for 0 < x Y 8. 

 

 (a) Use the graph to solve the equation 
2

x

 + 
x

2
 = 3. 

 
 
 
 
 
 
 
 
 Answer (a) x =  or x =   [2] 

 
 
 (b) By drawing a suitable tangent, work out an estimate of the gradient of the graph where x = 1. 
 
 
 
 
 
 
 Answer(b)   [3] 
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 is shown on the grid.x – 42x + 23x = yThe curve 19	

( ....................  ,  .................... ) [1] 

.DWrite down the co-ordinates of 

 is 0.DThe gradient of the tangent at 
 is negative.D co-ordinate of xThe 

 lies on the curve.DA point 	 (b)	

 ................................................. [3] 

 = 1.xBy drawing a suitable tangent, find an estimate of the gradient of the curve when 	 (a)	
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